= Verify Proposition B.2 in the special case of 1+5, 2+4,3+3 blocks in a 6x6 matrix.

= Block 1+5

000001
100000
|o10000],

M= 2= 160100 0|

000100

000010

al 0 0 O ©O0 o

0 bll bl2 bl3 bl4 bls
o p.| 9 b21 b22 b23 b24 b25 |
M= F =10 b31 b32 b33 b34 b35 |’

0 b4l b42 ba3 bad bas

0 b51 b52 b53 b54 b55
in[11= Inverse[Q].P.Q // MatrixForm
Out[11]/MatrixForm=

bll bl2 bl3 bl4 bl5
b21 b22 b23 b24 b25
b31 b32 b33 b34 b35
b4l b42 b43 bé4 b4s
b51 b52 b53 b54 b55

0 0 0 0 0 al

O O ©O O o

ini2]= Union[Flatten[Transpose[Q] - Inverse[Q]]] // MatrixForm

Out[12]//MatrixForm=

(0)
= Block 2+4
000010
000001
|to00000],
nie=2=16 1000 0|
001000
000100
alaz 0 0 0 O
a3 a4 0 0 0 O
o p.|0 0 b1 b2 b3 ba|
m=F=10 0 b5 b6 b7 b8 |’
0 0 b9 bl0 bll bl2
0 0 bl3 bl4d bl5 bl6

in[i6= Inverse[Q].P.Q // MatrixForm

Out[16]//MatrixForm=
bl b2 b3 b4
b5 b6 b7 b8
b9 bl0 bll bl2
bl3 bl4 bl5 blé6
0 0 0 0 al a2
0 0 0 0 a3 a4

o O O o
o O O o
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in[17)= Union[Flatten[Transpose[Q] - Inverse[Q]]] // MatrixForm

Out[17]//MatrixForm=

(0)

= Block 3+3
000100
000010
000001

niE=2=14 6000 0|
010000
001000

al a2 a3 0 O O
ad a5 a6 0 0 O
| _p= a7 a8 a9 0 O O .
=T 10 0 0 bl b2 b3 |’
0O O O b4 b5 b6

0 0 O b7 b8 b9

ino}= Inverse[Q] .P.Q // MatrixForm
Out[20]//MatrixForm=

bl b2 b3 0 0 O

b4 b5 b6 0 0 O

b7 b8 b9 0 0 0

0 0 0 al a2 a3

0 0 O a4 a5 ab

0 0 0 a7 a8 a9

in21}= Union[Flatten[Transpose[Q] - Inverse[Q]]] // MatrixForm

Out[21]//MatrixForm=

(0)



